MOUNTING EXAMPLE

TO CONTROLLER BLUE CLAMP\

TO CONTROLLER BLUE
PILOT <RELEASE)

TO CONTROLLER YELLOW CLAMP

TO CONTROLLER YELLOW
PILOT (RELEASE)

YELLOW

BLUE
RELEASE RELEASE

YELLOW
CLAMP

RAM MAIN CLAMP <RMC)
RAM MAIN PILOT (RMP>

TO CONTROLLER BLUE CLAMP\

TO CONTROLLER BLUE
PILOT <RELEASE)

TO CONTROLLER YELLOW CLAMP

TO CONTROLLER YELLEIW/
PILOT <RELEASE)

BOLSTER MAIN CLAMP (BMC>
BOLSTER MAIN PILOT (BMP>

p N

p N

p N

p N

AM
, e a— RAM

200000

) RMP
5 RMPR(1>
JJ |RMC
Y ) CAP
AmeCAP
cE RMCR(> Lel Rerety
A
% g [CLAMP|
= E2 |
ICLAMP| M
€ RMP =2 CAP AM
g T Frmcre =
[f RCL(D RCL(2)
BMC

- vg. ] BOLSTER
5 BMPLG2) W CAP BCL(2
\

BOLSTER

% CHECK VALVE ASS'Y, SEE NOTE BELOW

DI-3C3C INSTALLATION KIT

—_ == [ PR [~ PFA-AC
ILLUSTRATION av | PN DESCRIFTION 1 LLUSTRATION av | PN DESCRFTION
I [ HCA1973 | cHECK VALVE, FULL m! @ R o768 oy P
A 1| E
| oM (EACH) | (NOT SHOWN)
| 3| HENEE | SRR |
2 ' 20 FA30408 1/4-20 BTHD SCREW
| Il F ® x 3/8" LONG
(NOT SHOWN)
| |
I 2 | FAB0200 | 1/4-20 HEX SCREW I NOTE: HOSE AND LOOSE
| x 1 174" LONG | FITTINGS SHIPPED IN
BULK, HOSE ASSEMBLY/
L i FABRICATION BY CUSTOMER
= - AT THER FACILITY
4 HC14649 MANIFOLD, FULL ASSY XX = LENGTH IN INCHES
RMC-XX 1 14499-XX XX =
B BoM (EAcH) RMP-XX 1| 14499xx | xx =
1 | HB10880 | MmANIFOLD RMCR(1)—-XX 1 | 14499-XX XX =
3 [Foress | SRS R RMPR(1)-XX | 1 | 14480-xx | xx =
RCR(1)-XX 1 | 14499-xx | xx =
RMCL(1)-XX 1 | 14499-XX | xx =
\% 2 | FABO200 | 1/4-20 HEX SCREW RMPL(1)-XX | 1 [ 14488-xx [ xx =
11/4% LONG
RMCL(2)-XX 1 | 14489-XX XX =
RMPL(2)-XX | 1 | 14498-xx =
1 HC10080 MANFOLD, FULL ASS'Y RCL(1)-XX 1 14499-XX XX =
RCL(2)—-XX 1 | 14499-XX | Xxx =
BOM (EACH)
BMC-XX 1 14499-XX XX =
c 1 HB10050 w'F‘DLD o BMP-XX 1 14499-XX XX =
4 | FFOO70 | CONNECTOR. ELBOW. 45 BMCR(1)=XX 1 | 14499-xX | XX =
BMPR(1)-XX 1 14499-XX | XX =
BCR(1)-XX 1| 14499-xx | XX =
BMCL(1)-XX 1 14499-XX | XX =
BMPL(1)-XX 1| 14409-xx =
BMCL(2)-XX 1| 14489-xx | XX =
BMPL(2)-XX 1| 14499-xx | XX =
2| rasozze | 1/4-20 vex screw BCL(1)-XX 1| 14499-XX | XX =
11/2° LONG BCL(2)-XX 1 14499-XX | XX =

D w 12 FAOB237

DOUBLE JFFY CLP
(NOT SHOWN)

NOTE: WHEN SHIPPING BULK HOSE AND FITTINGS,
SEND THE FOLLOWING QUANTITY OF ITEMS;

HOSE, PART #H014500, 120 FEET

FTTTINGS, PART §FF14502, 48 PIECES

% NOTE: CHECK VALVE ASS'Y NOT
INCLUDED AS PART OF
THE INSTALL KIT, ORDER
CHECK VALVES SEPARATELY.

HOW TO MEASURE HOSE LENGTHS:

1

IMPIRTANT: LEAVE ROOM FOR PRESS AND CLAMP MOVEMENTI

DI—=5C5C

PFA, INC.
—— e ynsess e el e v, ez
ENTS. INSTALLATION KIT
iert | ™™™ pi-3cac



AutoCAD SHX Text
4

AutoCAD SHX Text
HC14649

AutoCAD SHX Text
E

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
B

AutoCAD SHX Text
MANIFOLD

AutoCAD SHX Text
CONNECTOR, STRAIGHT

AutoCAD SHX Text
FF00019

AutoCAD SHX Text
HB10680

AutoCAD SHX Text
20

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
1/4-20 BTHD SCREW 

AutoCAD SHX Text
x 3/8" LONG

AutoCAD SHX Text
FA30406

AutoCAD SHX Text
P/N

AutoCAD SHX Text
PFA-ACC

AutoCAD SHX Text
%%UDI-3C3C INSTALLATION KIT

AutoCAD SHX Text
A

AutoCAD SHX Text
6

AutoCAD SHX Text
ILLUSTRATION

AutoCAD SHX Text
QTY

AutoCAD SHX Text
8

AutoCAD SHX Text
HC41973

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
PFA-ACC

AutoCAD SHX Text
P/N

AutoCAD SHX Text
ILLUSTRATION

AutoCAD SHX Text
QTY

AutoCAD SHX Text
JIFFY CLIP

AutoCAD SHX Text
FA05768

AutoCAD SHX Text
DESCRIPTION

AutoCAD SHX Text
A

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
NOTE: HOSE AND LOOSE

AutoCAD SHX Text
FITTINGS SHIPPED IN

AutoCAD SHX Text
BULK, HOSE ASSEMBLY/

AutoCAD SHX Text
FABRICATION BY CUSTOMER

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
4

AutoCAD SHX Text
CONNECTOR, ELBOW 90%%D

AutoCAD SHX Text
CONNECTOR, ELBOW, 45%%D

AutoCAD SHX Text
MANIFOLD

AutoCAD SHX Text
FF00070

AutoCAD SHX Text
FF00083

AutoCAD SHX Text
HB10050

AutoCAD SHX Text
1

AutoCAD SHX Text
HC10050

AutoCAD SHX Text
FA80200

AutoCAD SHX Text
2

AutoCAD SHX Text
1/4-20 HEX SCREW

AutoCAD SHX Text
x 1 1/4" LONG

AutoCAD SHX Text
C

AutoCAD SHX Text
CAP, 37%%d FLARE

AutoCAD SHX Text
FF01835

AutoCAD SHX Text
1

AutoCAD SHX Text
FA80224

AutoCAD SHX Text
1/4-20 HEX SCREW

AutoCAD SHX Text
x 1 1/2" LONG

AutoCAD SHX Text
2

AutoCAD SHX Text
F

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
1

AutoCAD SHX Text
14499-XX

AutoCAD SHX Text
XX = 

AutoCAD SHX Text
12

AutoCAD SHX Text
DOUBLE JIFFY CLIP

AutoCAD SHX Text
(NOT SHOWN)

AutoCAD SHX Text
FA06237

AutoCAD SHX Text
D

AutoCAD SHX Text
XX = LENGTH IN INCHES

AutoCAD SHX Text
RMP-XX

AutoCAD SHX Text
RMC-XX

AutoCAD SHX Text
RMCR(1)-XX

AutoCAD SHX Text
RMPR(1)-XX

AutoCAD SHX Text
RCR(1)-XX

AutoCAD SHX Text
RMCL(1)-XX

AutoCAD SHX Text
RMPL(1)-XX

AutoCAD SHX Text
RMCL(2)-XX

AutoCAD SHX Text
RMPL(2)-XX

AutoCAD SHX Text
RCL(1)-XX

AutoCAD SHX Text
RCL(2)-XX

AutoCAD SHX Text
BMP-XX

AutoCAD SHX Text
BMC-XX

AutoCAD SHX Text
BMCR(1)-XX

AutoCAD SHX Text
BMPR(1)-XX

AutoCAD SHX Text
BCR(1)-XX

AutoCAD SHX Text
BMCL(1)-XX

AutoCAD SHX Text
BMPL(1)-XX

AutoCAD SHX Text
BMCL(2)-XX

AutoCAD SHX Text
BMPL(2)-XX

AutoCAD SHX Text
BCL(1)-XX

AutoCAD SHX Text
BCL(2)-XX

AutoCAD SHX Text
HOW TO MEASURE HOSE LENGTHS:

AutoCAD SHX Text
XX

AutoCAD SHX Text
BOM (EACH)

AutoCAD SHX Text
BOM (EACH)

AutoCAD SHX Text
CHECK VALVE ASS'Y

AutoCAD SHX Text
CAP, 37%%D FLARE

AutoCAD SHX Text
FF01835

AutoCAD SHX Text
HE41973

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
FA80200

AutoCAD SHX Text
2

AutoCAD SHX Text
1/4-20 HEX SCREW

AutoCAD SHX Text
x 1 1/4" LONG

AutoCAD SHX Text
BOM (EACH)

AutoCAD SHX Text
CHECK VALVE, FULL ASS'Y

AutoCAD SHX Text
MANIFOLD, FULL ASS'Y

AutoCAD SHX Text
MANIFOLD, FULL ASS'Y

AutoCAD SHX Text
%%UIMPORTANT:%%U LEAVE ROOM FOR PRESS AND CLAMP MOVEMENT!

AutoCAD SHX Text
MOUNTING EXAMPLE

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
RAM MAIN PILOT (RMP)

AutoCAD SHX Text
RAM MAIN CLAMP (RMC)

AutoCAD SHX Text
RMC

AutoCAD SHX Text
RMP

AutoCAD SHX Text
RCR(1)

AutoCAD SHX Text
RMCR(1)

AutoCAD SHX Text
RMPR(1)

AutoCAD SHX Text
RMCL(1)

AutoCAD SHX Text
RMPL(1)

AutoCAD SHX Text
RMCL(2)

AutoCAD SHX Text
RMPL(2)

AutoCAD SHX Text
RCL(1)

AutoCAD SHX Text
RCL(2)

AutoCAD SHX Text
BMP

AutoCAD SHX Text
BMC

AutoCAD SHX Text
BCR(1)

AutoCAD SHX Text
BCL(1)

AutoCAD SHX Text
BCL(2)

AutoCAD SHX Text
BMPL(2)

AutoCAD SHX Text
BMCL(2)

AutoCAD SHX Text
BMCL(1)

AutoCAD SHX Text
BMPL(1)

AutoCAD SHX Text
BMCR(1)

AutoCAD SHX Text
BMPR(1)

AutoCAD SHX Text
CONTROLL UNIT

AutoCAD SHX Text
BACK OF

AutoCAD SHX Text
AIR INLET

AutoCAD SHX Text
BLUE

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
BLUE

AutoCAD SHX Text
RELEASE

AutoCAD SHX Text
YELLOW

AutoCAD SHX Text
RELEASE

AutoCAD SHX Text
YELLOW

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
TO CONTROLLER BLUE

AutoCAD SHX Text
TO CONTROLLER BLUE CLAMP

AutoCAD SHX Text
TO CONTROLLER YELLOW CLAMP

AutoCAD SHX Text
TO CONTROLLER YELLOW

AutoCAD SHX Text
PILOT (RELEASE)

AutoCAD SHX Text
PILOT (RELEASE)

AutoCAD SHX Text
TO CONTROLLER BLUE

AutoCAD SHX Text
TO CONTROLLER BLUE CLAMP

AutoCAD SHX Text
TO CONTROLLER YELLOW CLAMP

AutoCAD SHX Text
TO CONTROLLER YELLOW

AutoCAD SHX Text
PILOT (RELEASE)

AutoCAD SHX Text
PILOT (RELEASE)

AutoCAD SHX Text
A

AutoCAD SHX Text
%%URAM

AutoCAD SHX Text
%%UBOLSTER

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
%%UDI-3C3C

AutoCAD SHX Text
SHEET                     DRAWING NUMBER

AutoCAD SHX Text
SCALE

AutoCAD SHX Text
INSTALLATION KIT

AutoCAD SHX Text
DI-3C3C

AutoCAD SHX Text
1 of 1

AutoCAD SHX Text
N.T.S.

AutoCAD SHX Text
PFA, INC.

AutoCAD SHX Text
N118 W18251 BUNSEN DRIVE, GERMANTOWN, WI. 53022

AutoCAD SHX Text
262-250-4410, 262-250-4409 (fax), www.pfa-inc.com

AutoCAD SHX Text
HEM  11-13-17

AutoCAD SHX Text
BOLSTER MAIN PILOT (BMP)

AutoCAD SHX Text
BOLSTER MAIN CLAMP (BMC)

AutoCAD SHX Text
NOTE: WHEN SHIPPING BULK HOSE AND FITTINGS,

AutoCAD SHX Text
SEND THE FOLLOWING QUANTITY OF ITEMS;

AutoCAD SHX Text
HOSE, PART #HO14500, 120 FEET

AutoCAD SHX Text
FITTINGS, PART #FF14502, 48 PIECES

AutoCAD SHX Text
AT THEIR FACILITY

AutoCAD SHX Text
CHECK VALVE ASS'Y, SEE NOTE BELOW

AutoCAD SHX Text
NOTE: CHECK VALVE ASS'Y NOT

AutoCAD SHX Text
INCLUDED AS PART OF

AutoCAD SHX Text
THE INSTALL KIT, ORDER

AutoCAD SHX Text
CHECK VALVES SEPARATELY.

AutoCAD SHX Text
*

AutoCAD SHX Text
*

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
A

AutoCAD SHX Text
%%URAM

AutoCAD SHX Text
%%UBOLSTER

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
CLAMP

AutoCAD SHX Text
B

AutoCAD SHX Text
B

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CAP

AutoCAD SHX Text
CLAMP


	Sheets and Views
	Model


